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TE +52(ton) FE(Hs)
HE = ks Al = i A
| 974 1.897 178 2,075 10,633 804 11437
r~ 1] 98\ 4,075 792 4,867 13,928 3,555 17.483
I 994 6,023 1.394 7.417 23,640 6.819 30,459
o 974 1.534 291 1,825 8,197 1.676 9,873
okl 22 98 5.129 1,091 6,220 17.348 4,921 22,269
i | I 994 4,683 1,566 6.249 17,009 7.634 24,643
974 2,196 378 2,574 11,418 2,180 13,598
AN 3 98t 4,381 1,134 5,515 14,872 5,099 19,971
= 994 6,090 1,957 8,047 21,975 9.404 31,379
974 3,899 1,085 4,984 18,590 6,171 24,761
4y 98 6,514 1,193 7.707 21,221 5,152 26,373
994 5,408 1.931 7.339 19,134 9,116 28,250
97 4,200 928 5,128 20,779 5,382 26,161
52 984 6,200 1,168 7.368 19.365 4,869 24,234
994 4,629 1,728 6.357 17,944+ 8.163 26,107
974 5.123 78457 | 5,907 24536 4,668 29.204
6 98Ld 6,606 1,632 8,238 20,591 6,566 27,157
99 3,691 1,768 5.459 13,957 . 8,408 22,365
97 2,817 i 572 3,974 13,936 6.506 20,442
7 98 A 5,642 2,122 7764 17.878 ( 8,615 26.493
99 3.418 2,102 | 5.520. . 13962 '[|" 9951 23.913
= 3719 1,361 5,140 18,169 7.432 ¢ 25,601
8 9giA 14,288 T s...;g,(% 6,190 ~ s~ , 13,413 wm‘fs@;aom' 21,230
994 - 3,338 1,832 ™M 45,170 13,288 8,8 22,178
97 [RE2:36 T ] 1,169 ''3,536 1,488 : %{g,’. -4 217708
98 981 6,760 1,915 s .. 8,675 21,794 o012, 0 29,806
9944 : I e . ¥
974 3,186 1330 516 15,293 3,885 22,179
108 98 6,382 1,935 8,317 22769 |¥5F 8,622 31,391
99 g
974 3,085 993 4,077 14,089 4,764 18,852
e 98 7,656 1.940 9,596 26,809 8,999 35,808
994
974 6,908 993 7.901 23,919 4,494 28,413
128 9gLA 6,121 1.736 7.856 22,426 7.840 30,266
994
97 40,991 10,647 51,637 191,048 57,182 248,229
Al ggtd 69.754 18,560 88,314 232,414 80.067 312,481
994 37,280 14,278 51,558 140,909 68,385 209,294
HelthH[(25) 97.7% 87.2% 93.7% 95.2% 89.3% 92.7%
HA=S2lchd[(2) 77.8% 96.3% 83.5% 99.1% 113.7% 104.5%
HAST |AICHE(26) 87.0% 129.4% 95.7% 101.7% 146.8% 113.0%
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20,000 — 9T
smssEEm 981.‘15
18,000 — gz
16,000
U 3
ot 14,00
S| 12,00
s 100
~ 8,000
6,000 »
4,000
2,00 e
CETTT T L
i 2 3 4 o] 6 7 8 9 10 11 12¢
EE FelH(ton) Fel%(Zs)
gl d= U A = A Al
974 1.645 2,191 3.836 5.688 7.970 13.658
E=! 9L 663 = 663 2,385 2 2,385
994 5,054 - 5,054 8,535 - 8,535
g7 3.818 1.890 5,708 13.115 7.101 20,216
28 gsLd 108 = 108 1.235 - 2,135
994 5,997 = 5,997 11,887 - 11,887
974 6,092 1.639 7.730 21,239 6.495 27,734
3 984 1.621 < 1.621 4,557 - 4,557
99Ld 12,608 - 12,608 24.140 - 24,140
974 6,586 1.086 7,671 23,323 4,296 27.619
4y 98 6,184 0.03 6.184 16,551 - 16,551
994 11,359 16 11,375 23,461 49 23,510
974 6,996 418 7.414 25.388 1,663 27.051
58 984 8,442 - 8,442 23,007 = 23,007
991A 13,896 24 13,920 26,727 73 26,800
974 5,240 73 5,313 19.295 275 19,570
62 981 5,243 - 5,243 14,006 = 14,006
9gLd 17,590 72 17,662 30,621, 224 30,845
974 6,952 < 0.02 6.952 25,805 _ - 25,805
78 o8 9,281 - —9.281 25,454 ( - 25,454
9944 19,338 128] 19.466 - 33,077 416 33,493
97 [y 7% 0.04 7.247 26,028 P 26,028
82l 984 16,502 PH | e o~ 6,562 nm|. 17,288 F Sl g 17,288
99 120,022 178 ™| 4.,20,200 36,404 884 36,988
o7 |Mw3.966, - - 73,966 14,429 il 3 14,429
98 | o8 3.966 - ..3.966 14,429 . <| YTE T oo
99 R _ N,
974 3,391 — TN 370 12,7000 e - 12,709
108 98 3,403 = 3.403 8,869 ° = 8,869
994 e
974 1,970 34 2,004 7.015 63 7,078
k= 98 4,380 - 4,380 10,389 - 10,389
994
97 1,831 - 1,831 6,159 - 6,159
128 98 3,963 - 3,963 8,509 2 8,509
994
974 7.331 63.012 200.193 27.863 228.056
Al 984 - 55,723 146,526 - 146,526
9914 418 106,282 194,852 1,346 196,198
& H|(%) 139.1% 103.8% 110.1% 140.4% 110.4%
FAS24CHH|(26) = 307.8% 210.6% - 214.0%
TAST |5AICHE |(26) - 276.7% 186.5% = 187.8%
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